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JIEAT. K 4 ouT IN G HC NET * W [NVEVAR d
1 KHEF=E 41 43 84 10.0 74.0
2 fR HIRER 41 44 85 9.0 76.0
3 REZBIE 42 16 88| 12.0 76.0
4 1)1 S5 43 45 88 12.0 76.0
5 PERRRFR 48 45 93 16.0 77.0
6 EHEG 47 50 97 20.0 77.0
T EHE 43 50 93 15.0 78.0
8 HEHEZ 50 52 102 24.0 78.0
9 IEAREAR 48 39 87 8.0 79.0
10 BHEK 45 16 91 12.0 79.0
11 F7EHRER 45 49 94 15.0 79.0
12 [HHEE 58 56 114 35.0 79.0
13 HHEE 47 42 89 9.0 80.0
14 FHE— 49 50 99 19.0 80.0
15 [ 5254 43 44 87 6.0 81.0
16 FERTETS 50 51 101 20.0 81.0
17 NHEAT 49 56 105 24.0 81.0
18 ZFJF{HiA 43 44 87 5.0 82.0
19 FEE 42 45 87 5.0 82.0
20 ZEAMR 45 48 93 11.0 82.0
21 JESTEL 50 44 94 12.0 82.0
22 HARESC 45 52 97 15.0 82.0
23 4)IHEE 50 49 99 17.0 82.0
24 IIR=TR 49 51 100 18.0 82.0
25 T FA 47 47 94 11.0 83.0
26 JFANENS 48 47 95 11.0 84.0
27 A LfE— 16 50 96 12.0 84.0
28 JnpkRE— 52 52 104 20.0 84.0
29 HPEEK 52 43 95 10.0 85.0
30 FEHEAD 48 52 100 15.0 85.0
31 Mpiki& 50 53 103 18.0 85.0
32 REFR 45 49 94 8.0 86.0
33 Ik EZ 52 46 98 12.0 86.0
34 FrHBUE 49 51 100 13.0 87.0
35 O 50 47 97 9.0 88.0
36 /NMIHFEA 49 51 100 11.0 89.0
37T MAEE 50 55 105 15.0 90.0
38 HiEL— 57 42 99 8.0 91.0
39 FERFAS— 59 52 111 19.0 92.0
40 IAAREE 54 53 107 13.0 94.0




